
 

 

 

 



 

 

 

 

 

Δ

𝑘௦ =
𝑞௟௜௠

𝛥

 

 

φ

𝑘௦ =
𝑞௟௜௠

𝛥
= 7320 

𝑘𝑁

𝑚ଷ



 

 

𝑞௟௜௠ = 𝑁௤ ∙ 𝛾 ∙ 𝑧 + 𝑁௖ ∙ 𝑐

γ φ

𝑞௟௜௠ = 𝑁௖ ∙ 𝑐

𝑘௦ =
𝑁௖ ∙ 𝑐

𝛥
= 7320 

𝑘𝑁

𝑚ଷ
           →           𝑐 =

𝑘௦ ∙ 𝛿

𝑁௖
=

7320 ∙ 2.54 ∙ 10ିଶ

5.14
= 36.17 

𝑘𝑁

 𝑚ଶ
 

 

𝛾ᇱ = 𝛾ௌ஺் − 𝛾ௐ = 11 
𝑘𝑁

𝑚ଷ

 

𝐼 =
𝐵 ∙  𝐻ଷ

12
= 670 ∙  10ି଺ 𝑚ସ            →           𝐻 = ඨ

12 𝐼

𝐵

య

= ඨ
12 ∙ 670 ∙  10ି଺

1

య

= 0.2 𝑚

 



 

 

𝐾ଵ =
𝐴 ∙ 𝐸

𝐿
= 4300 

𝑘𝑁

𝑚
            →             𝐸ଵ =

𝐾 ∙ 𝐿

𝐴
=

4300 ∙ 15

9.6 ∙ 10ିସ
= 67.19 ∙ 10଺ 𝑘𝑃𝐴  

𝐾ଶ =
𝐴 ∙ 𝐸

𝐿
= 3030 

𝑘𝑁

𝑚
            →             𝐸ଶ =

𝐾 ∙ 𝐿

𝐴
=

3030 ∙ 6.5

3.14 ∙ 10ିସ
= 62.19 ∙ 10଺ 𝑘𝑃𝐴



 

 



 

 

 

 

 

 

γ

γ

δ



 

 

δ

𝐼 =
𝐵 ∙  𝐻ଷ

12
= 255.56 ∙  10ି଺ 𝑚ସ            →           𝐻 = ඨ

12 𝐼

𝐵

య

= ඨ
12 ∙ 255.56 ∙  10ି଺

1

య

= 0.145 𝑚

𝐾 =
𝐴 ∙ 𝐸

𝐿
= 24240 

𝑘𝑁

𝑚
            →             𝐸 =

𝐾 ∙ 𝐿

𝐴
=

24240 ∙ 9

𝜋 ቀ
଴.଴ହ

ଶ
ቁ

ଶ = 1.11 ∙ 10଼ 𝑘𝑃𝐴



 

 

𝑘௦ =
𝑞௟௜௠

𝛥
=

1

𝛥
൤𝑁௤ ∙ 𝛾 ∙ 𝑧 + 𝑁௖ ∙ 𝑐 + 𝑁ఊ ∙ 𝛾 ∙

𝐵

2
 ൨

γ

𝑁ఊ = 2 ൫𝑁௤ + 1൯ tan 𝜑

γ

𝑘௦ =
𝑁௤ ∙ 𝛾

𝛥
 ∙ 𝑧 +

𝑁ఊ ∙ 𝛾 ∙
஻

ଶ
 

𝛥
=  

18.4 ∙ 10.37

0.015
𝑧 +

22.4 ∙ 10.37 ∙ 0.5

0.015
= 7740 𝑧 + 12721  

𝑘௦ = 7740 𝑧 + 11000

γ φ



 

 


